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(NPLs) #$����������	
���2-%/-	+3��G��,-�,�3������%
�����1+�����+�8�2+4�A��.�. 
2548 – 2552 ��'����8 
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�	'���1')�( NPL) #$����������	
���2-%/-	+3��G�
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2548 Q1 959,975 574,048
Q2 928,361 560,940
Q3 944,173 556,205
Q4 1,025,510 470,722

2549 Q1 1,019,212 466,495
Q2 976,277 479,429
Q3 989,550 480,100
Q4 1,071,511 440,038

2550 Q1 1,065,618 445,721
Q2 1,020,461 468,389
Q3 1,042,222 481,311
Q4 1,128,263 453,411

2551 Q1 1,133,836 465,218
Q2 1,073,701 447,789
Q3 1,072,743 431,859
Q4 1,081,116 397,146

2552 Q1 1,053,440 416,091
Q2 1,021,322 402,113
Q3 1,043,274 401,839
Q4 1,144,005 376,136
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